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P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.64 57.89 | =nst | 0oo ~ 464|214 11.43 st 1.00 | 6.00 ~ 6.40 57.89 | #hst | 500 ~ 6.40)| 2.14 11.43
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
zhst 1.00 | 000 ~ 589 73.68 | #nst | 000 ~ 589 1.84 9.87 zhst 1.00 | .00 ~ 6.80 73.68 | #nps | 600 ~ 680 1.84 9.87
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m#%E#BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 6.76 85.48 | =4 | 0oo ~ 676 1.91 10.23 st 1.00 | 6.00 ~ 870 85.48 | #=ns | 5,00 ~ 870 1.91 10.23
4 100kN/m%E#8z5 | 1.00 | 000 ~ 292 14625 |3mZz#Bz23| — ~ — — — | 100kN/m%#82% | .00 | 1062 ~ 2780 146.25 |3m&EiBZ5 - ~ — — —
s 1.00 | 292 ~ 1| 100.00| Tns | 000 ~ 1070|296 15.85 ThList 1.00 | 6.00 ~ 1062 100.00| NS | 6,00 ~ 27.80| 2.96 15.85
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
zhst — -~ = —| #nLst -~ = — — zhst — - ~ — —| #nst - ~ — — —
P 100kN/mM%#BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 6.39 80.40 | =nst | 000 ~ 639 | 1.88 10.05 FhLst 1.00 | 6.00 ~ 7.80 80.40 | =hst | 6,00 ~ 7.80| 1.88 10.05
7 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m%E#BZ B - ~ — — —
zhs 1.00 000 ~ 649 81.70 | Thds | 000 ~ 649| 1.73 9.24 zhs 1.00 | 5600 ~ 7.70 81.70 | #hs | .00 ~ 770\ 1.73 9.24
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
Thilst 1.00 | 000 ~ 757 96.84 | ThUs | 000 ~ 757 1.79 9.569 FhLst 1.00 | 6.00 ~ 10.00 96.84 | #hst | 5,00 ~ 1000)| 1.79 9.569
9 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.69 84.51 | #nst | 000 ~ 669 1.92 10.27 ThList 1.00 | 6.00 ~ 860 84.561 | #nhS | 5,00 ~ 860 1.92 10.27
10 100kN/mM%#B2. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.19 77.66 | TN | 000 ~ 619 1.89 10.13 ThList 1.00 | 6.00 ~ 7.50 77.66 | TN | 6.00 ~ 750 | 1.89 10.13
11 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/ Mm%z 5 — - ~ — —|3m%iBZ % - ~ — — —
zhs — -~ = — | =hst -~ - — — zhs — - ~ — — | =hst — ~ — — —
19 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
zhs — -~ = — | =hst -~ - — — zhs — - ~ — — | =hst — ~ — — —
13 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 189 26.53 | ThS | 000 ~ 1.89| 2.62 14.02 ThLst 1.00 | 6.00 ~ 5.00 26.563 | TnS | .00 ~ 56.00| 2.62 14.02
14 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.o0 ~ 517 64.44 | TN | 0oo ~ 517| 1.80 9.63 ThList 1.00 | 5.00 ~ 6.60 64.44 | TSt | 6,00 ~ 560 | 1.80 9.63
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/ Mm%z 5 — - ~ — —|3m%iBZ % - ~ — — —
zhLst — -~ = —| #nLst -~ = — — zhLst — - ~ — —| #nLst - ~ — —
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16 100kN/M#&#8Z % - -~ - —[smEBZE| — ~ — — — | 100kN/ Mm% 2 % — -~ = —[smEBZD| — ~ @ — — —
Ehist - -~ - — | Fhest | — ~ - — — Ehist -1 -~ - — | Fhust -~ - - —
17 100kN/mM%EH#Z % - -~ - —[mEBZEH — ~ — — — | 100kN/mi%E2 % - -~ = —|3mEEZD| — ~ — — —
Ehist - -~ - — | Fhes | — ~ - — — Ehist -1 -~ - — | Fhust -~ - - —
18 100kN/mM%EH#Z % - -~ - —[mEBZLH — ~ — — — | 100kN/mi%E2 % - -~ = —|3mEEZD| — ~ — — —
Ehist - -~ - — | Fhes | - ~ - — — hist -1 -~ - — | Fhust -~ - - —
19 100kN/M&#8 2 % - -~ - —[smEBZD| — ~ — — — | 100kN/ Mm% 2 % — -~ = —[smEBZD| — ~ — —
Thust - -~ - —| ' | - ~ - - — zhust -1 -~ - —| Thust -~ —| - —
2 100kN/M&#8 2 % - -~ - —[smEBZD| — ~ — — — | 100kN/ Mm% 2 % — -~ = —[smEBZD| — ~ — —
zhust - -~ - —| g | - ~ - - — Thust -1 -~ - —| Thust -~ —| - —
21 100kN/M&#8 2 % - -~ - —[smEBZE| — ~ — — — | 100kN/mZE#E 2 % — -~ = —[smEBZE| — ~ @ — — —
Ehist - -~ - — | Fhesr | — ~ - = — Ehist - -~ - — | Fhust -~ - - —
29 100kN/ Mm% Z % - -~ - —[mEBZEH — ~ — — — | 100kN/mi%E2 % - -~ = —|3mEEZD| — ~ — — —
Ehist - -~ - — | Fhest | — ~ - — — Ehist -1 -~ - — | Fhust -~ - - —
23 100kN/ Mm% Z % - -~ - —[mEBZES — ~ — — — | 100kN/mi% 2 % - -~ = —|3mEEZD| — ~ — — —
Ehist - -~ - — | Fhes | — ~ - — — Ehist -1 -~ - — | Fhust -~ - - —
24 100kN/M#&#8Z % - -~ - —[smEBZE| — ~ — — — | 100kN/mZE#E2 % — -~ = —[3mEBZE| — ~ — —
Thust - -~ - —| g | - ~ - - — Thust -1 -~ - —| Thust -~ —| - —
25 100kN/M&#8 2 % - -~ - —[smEBZE| — ~ — — — | 100kN/mZE#E 2 % — -~ = —[smEBZE| — ~ @ — — —
zhust - -~ - —| g | - ~ - - — Thust -1 -~ - —| Thust -~ —| - —
% 100kN/M&#8Z % - -~ - —[smEBZE| — ~ — — — | 100kN/ Mz 2 % — -~ = —[smEBZD| — ~ @ — — —
Ehist - -~ - — | Fhest | — ~ - — — Ehist -1 -~ - — | Fhust -~ - - —
97 100kN/mM%EH#Z % - -~ - —[mEBZEH — ~ — — — | 100kN/mi%E2 % - -~ = —|3mEEZD| — ~ — — —
Fh st 1.00 | 000 ~ 336 42.68 | #hLst 000 ~ 336|233 12.49 Fh st 1.00 | 500 ~ 570 42.68 | #hpst | 500 ~ 570 | 2.53 12.49
28 100kN/mM%EH#Z % - -~ - —[mEBZLH — ~ — — — | 100N/ MZEEZ S - -~ = —|3mEEZD| — ~ — — —
Zh Lt 1.00 | 0.00 ~ 5.66 70.70 | EnLSY | 000 ~ 566 1.92 10.25 Zh Lt 1.00 1 6.00 ~ 6.70 70.70 | FhLSY | 5.00 ~ 6.70| 1.92 10.25
29 100kN/M%#82% | 1.00 | 0.00 ~ 057 10839 |3m&EBZB| — ~ — — — | 100kN/mi%EB2% | .00 | 11.77 ~ 1350 10839 |3m%EREZB| — ~  — — —
st 1.00 | 057 ~ 835| 100.00 [ #nhSt [ 0.00 ~ 835|245 13.12 ZhLst 1.00 | 500 ~ 1177 100.00 | TnUs5t | 500 ~ 1350 2.45 13.12
50 100kN/m%E#BZ5 | 1.00 | 000 ~ 184 12833 |3mEBZB| — ~ — — — | 100kN/mi%EB2% | 1.00 | 11.04 ~ 1762 12833 |3m&EREZB| — ~  — — —
ZhLst 1.00 | 1.84 ~ 9.63| 100.00 | TnLISt | 0.00 ~ 9.63| 2.56 13.68 Zh st 1.00 | 600 ~ 1104]| 100.00 | TnUst | .00 ~ 17.62| 2.66 13.68
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21 100kN/m#E#BZ5| 100|000 ~ 1.75| 12684 |3m&x#Ez5| — ~ — — — | 100kN/m%E#B2% | 1.00 | 1057 ~ 1700| 126.84 |3m%E#Bz3 - ~ — — —
Lt 1.00 | 175 ~ 953 100.00 | ThLst | 000 ~ 953|233 12.47 LSt 1.00 | 5.00 ~ 1057 100.00 | FnLS | 5,00 ~ 17.00| 2.33 12.47
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M2 % ~ 3ImE R D ~
Zzhpst ~ ZhLst ~ Zzhs ~ Zn Lt ~
100kN/ Mm% 2 % ~ 3mEEZD ~ 100kN/ M2 % ~ 3ImE RS ~
Zzhpst ~ ZhLst ~ Zzhst ~ ZnLst ~
100kN/m#E# 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ s ~ ZnList ~ Zznst ~
100kN/m#E# 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ Zznst ~ ZnList ~ st ~
100kN/m#E 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
Zzhst ~ ZhLst ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M8 2 % ~ 3ImE RS ~
Zzhpst ~ ZhLst ~ Zzhst ~ ZhLst ~
100kN/ Mm% 2 % ~ 3mEEZD ~ 100kN/ M2 % ~ 3ImE R D ~
Zzhpst ~ ZhLst ~ Zzhst ~ ZhLst ~
100kN/m#E 2 % ~ IMEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ st ~ ZnList ~ st ~
100kN/m#E {2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ 3ImEBR D ~
ZnList ~ st ~ ZnList ~ s ~
100kN/mM#E 2 % ~ ImEEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
Zzhpst ~ Zh Lt ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M8 2 % ~ 3ImE R D ~
st ~ ZnLst ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M2 % ~ 3ImE R D ~
Zzhpst ~ ZnLst ~ Zzhpst ~ ZnLst ~
100kN/m#E 2 % ~ ImEEBZD ~ 100kN/ Mm% 5 ~ ImEBZ D ~
ZnList ~ st ~ ZnList ~ Zznst ~
100kN/ Mm% 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ 3ImEBR D ~
ZnList ~ ZznLst ~ ZnList ~ ZnLst ~




